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RI KEREEBLREHE

(1) EHREEE

B ' OHE E
REl g mutraseaEE| ¥ @ Bo® B R (E/%E )
No. FOK R K ¥ oKk # K
= BETHEWIE 17 _ 365
2 &Y BEHETRHRNIE 17 — 365
3 |HEOEBMRE KBER) 0.1mg/LELE 17 — 365
(2) KEH#EIEFH N
BE| x g 2z =2 g g | B *E (E/%) w =
No. (mg/L) %K B K
1| — RS 10018 LA R /mL 12 2
2 | KG&E BHIhGNIE 12 2 RREH
3 [AREVLRUZDIEEY 0.003 4 2
4 |KEBRUZDILEY 0.0005 2 2
5 |[ELURUZDILEY 0.01 2 2
6 [SARUZTDIEEY 0.01 4 2
7 |ERRUVZDIEEY 0.01 2 2
8 |AMEYOLILED 0.05 4 2 ®E-ERY
9 |HIHEAREER 0.04 12 2
10 |7 ALYAF o RIS T 0.01 4 2
1 |HBRERERRUEHBERSR 10 12 2
12 |IVvRRUVZDILEY 038 12 2
13 |RORRVZDILED 1.0 2 2
14 |miEbRE 0.002 4 2
15 |1, 4—=SFFH 0.05 4 2
16 [vA-12-0900IFLYRURSYR-12-0900TFLY BET0.04 4 2
17 |Conargy 0.02 4 2 ARILEYE
18 [FhZoooTFLY 0.01 4 2
19 |[k)yOBIFLY 0.01 4 2
20 |RutEy 0.01 4 2
21 |1E%EE 0.6 4 -
22 |HOOEEs 0.02 4 -
23 [yookiLL 0.06 4 -
24 |CUOOEFE 0.03 4 -
25 |JOE/OArY 0.1 4 -
26 |R&REE 0.01 4 - SHERIERY
27 [#arynOARY 0.1 4 -
28 |M)OUDOOFEEE 0.03 4 -
29 (JoED/O0O0A2Y 0.03 4 -
30 |FOERILL 0.09 4 -
31 |FRILLTILTER 0.08 4 -
32 |EHRRUZDILED 1.0 4 2
33 [FILES=ZDLRUZDILLED 0.2 4 2
34 |BRUZDILED 0.3 12 2 4R
35 [HARUZDILED 1.0 4 2
36 |FRUDLRUZDILEY 200 2 2
37 |[RVAVRUVZDIEEY 0.05 12 2
38 |EieaA4> 200 12 2
39 (AL DL TR LEEE) 300 12 2 BRE
40 |ZEREEY 500 12 2
41 REAAREEEH 0.2 2 2 Hia
42 |[CxFARIY 0.00001 4 1 .
43 [2-AFILAVYRIL A —IL 0.00001 4 1 PERME
44 |FEAA REFER 0.02 4 2 Fia
45 |Jz/—)LEE 0.005 2 2 1ZHLy
46 |ARM(EAHEKRTOCNDE) 3 12 2 KRR
47 |pHfE 5.8~8.6 12 2
48 Bk BETHEWIE 12 -
49 |BR BEHETRHRIE 12 2 EARRMEIK
50 (B 5 12 2
51 [ARE 2 12 2
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(3) KEEHEBEXRTEIER
% wgmamezaa| 20| C B F # =
No. (mg/L) K " K
1 | 7oFECRUZDIEEY 0.02 2 2
2 [OSURUZEDIEEY 0.002(E %) 2 2 EE-EHY
3 (= ILRUZDIEEY 0.02 2 2
4 N2-HooxTiy 0.004 2 2
5 [FLTY 0.4 2 2 A E
6 [FRILESQ-TFILAFIIL) 0.08 2 2
7 |EIEREE 0.6 - - iy zp sz _
s |—mien 06 - : LEERIREAD-ORELER A
9 |yma7Eb=rJL 0.01(& ) 2 - o o e e
10 [fako05—1L 0.02(5 %) 2 - HEBRIE Y
11 |BEHE (12048) 1 1 - BE
12 |3RBiE%R 1 12 - SHEH
13 (AL DL TR LEEE) 10~100 12 2 ®E
14 |RUHVERUVZEDIEED 0.01 12 2 &
15 |Emf i ER 20 12 2 KRR
16 1,1,1—I~'J’7“EIDI'5!I/_ 0.3 2 2 i
17 | AFILA-TFILT—TIL 0.02 2 2
18 |EHMZGEIN VEENILEES) 3 2 2 KE
19 |RS5RE(TON) 3TON - - [ZHBLY
20 |ZEREEEY 30~200 12 2 KE
21 |AE 1B 12 2 AY
22 |pHiE 75 12 2 EARRMHEIR
23 |BRMEGUTITIRE) -1~0 12 2 BEM%
24 |EEEME 20008 LU /mL (85%) 6 2 BERAEY
25 [11->HoRnxFLy 0.1 2 2 e mE
26 |FILEZOLBRUZDILEY 0.1 4 2 ZE- B
XEEZEIREREOREELEZEEOLOBRIIT, 1IUTTY,
(4) MAMBIZITIKEREIEHR
B EHEE
By mcssmamg| 8 ® R (E/E ) B =
No. # K R K oK | R’ OK
1 |OUTRRRY DY L - 16 - 4
2 |PTILDT - 16 - 4
3 |KEGEH - 38 - 2
4 | KBE (KEREBEZEHKR) - 16 - 12 |[9UFrRRYDY L%
5 |KBE (LEUSNDKIR) - 14 - 4
6 |HKMEFRE (KBEFERE KR - 16 - 12
7 |BEKHEFRE (LEUSNDKIER) - 14 - 4
8 |[BHFERDO) - 6 - 2 KD EARE R
9 [FrEZTEER - 38 - 2 R
10 |87 ILAUE 34 38 12 2
11 (BRI LR B - 38 - 2 EARR MR
12 |ERzER 34 38 12 2
13 | HEmE 3 — 12 - REWRFEDD
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(5) BEH
o . = s BiRiE | R TRE BIAX o . = s BiRiE | R TRE BIAX
= =

(mg/L) (mg/L) 14/ FF (mg/L) (mg/L) 14HFER
1]1,3->0a7a~(D-D) 0.05 0.0001 1 61[F7T=IL 0.1 0.001 1
2|2,2-DPAZ S7R>) 0.08 0.0008 1 62[F V5L 0.02 0.0002 1
3|2.4-D (2,4-PA) 0.03 0.0003 1 63|FATHILT 0.08 0.00005 1
4[EPN 0.004 0.00006 1 64| F A I7R—bAFIL 0.3 0.003 1
| 5|MCPA 0.005 0.0003 1 65[FARHIILT 0.02 0.0002 1
6|73 a5, 0.9 0.002 1 66[7JL T H)LT (MBPMC) 0.02 0.0002 1
1| 7tIz—k 0.006 0.0008 1 67[k)oOEIL 0.006 0.00006 1
8| TSPV 0.01 0.0001 1 68|~1)~ 0L (DEP) 0.005 0.0003 1
9[7=—aHkRR 0.003 0.00005 1 69T —IL 0.1 0.000002 1
10|73R5X 0.006 0.0003 1 0[RS 0.06 0.0006 1
1|{7578—)L 0.03 0.0001 1 71|FFa/8skK 0.03 0.0003 1
121V HFAY 0.008 0.00008 1 72|/853—F 0.005 0.00005 1
13|/VITRR 0.001 0.00003 1 1BEROKRR 0.0009 | 0.00005 1
14|14V FBHILT(MIPC) 0.01 0.0001 1 74|EZ98=)L 0.01 0.0001 1
15|/ FaFASIPT) 0.3 0.0004 1 15|35V F%L 71 0.004 0.00002 1
16[4F O R R(IBP) 0.09 0.00008 1 76|ESVR—r(ESYL—F) 0.02 0.0001 1
17| AS/980 0.006 0.004 1 1EVE I FAY 0.002 0.00005 1
18|45/ T7> 0.009 0.0003 1 18|EYTFHILT 0.02 0.0002 1
19[TRFOHILT 0.03 0.0001 1 9|Eaxoy 0.04 0.0004 1
20| T 727k (EDDP) 0.006 0.00006 1 80[747B= )L 0.0005 | 0.000005 1
21[ThTITOYIR 0.08 0.0008 1 81(Zx=kOFF > (MEP) 0.01 0.00003 1
2[TRYSTI =L (TH/AAJT—)L) | 0.004 0.00004 1 82(7x/FHILT(BPMC) 0.03 0.0003 1
23[TVRRIITFV RV TEY) 0.01 0.0001 1 83[Ix LY 0.05 0.0005 1
28| AFHTyAARY 0.02 0.0001 1 84| 7T F 4 (MPP) 0.006 0.00001 1
25|42 8 (A HEER) 0.03 0.0004 1 85| 7z FIT—K(PAP) 0.007 0.00004 1
26|A4YHREOEY 0.1 0.0006 1 86| 7T hSHSK 0.01 0.0001 1
27[hX YRR 0.0006 | 0.000006 1 87[IH 54K 0.1 0.001 1
28|H7xAhA—)L 0.008 0.00008 1 88|74y 0—JL 0.03 0.0002 1
29[hLayT 0.3 0.002 1 89| T A3IRR 0.02 0.0001 1
30{41JL/N1JJL(INAC) 0.05 0.0005 1 0[JFnuIvy 0.02 0.0002 1
31[AILFO/RSK 0.04 0.00005 1 NIINT IS L 0.03 0.0003 1
32(hILRTSV 0.005 0.00005 1 92|FLFSoa—)L 0.05 0.0004 1
33| % /9 Z32(ACN) 0.005 0.00002 1 [kl wi=PE 0.09 0.0009 1
34| THY 0.3 0.003 1 94| FaFAHRR 0.004 0.00004 1
35(o3)0v 0.03 0.0003 1 95|70y —L 0.05 0.0005 1
36—t 2 0.002 1 96| FOEHIR 0.05 0.0005 1
37|J kS R —b 0.02 0.0002 1 97(FARFJ—)L 0.05 0.0001 1
3g(yoArJovs 0.02 0.0001 1 8[JaEIFK 0.1 0.0004 1
39|/0JL=FOZT(CNP) 0.0001 0.0001 1 99[R/3)L 0.02 0.00002 1
40[7BJLEYRR 0.003 0.0003 1 100(R> o0y 0.1 0.0004 1
41(~00%0=)L(TPN) 0.05 0.0005 1 101 [NV EY YOV 0.09 0.0003 1
21T FIY 0.004 0.00002 1 102|R I HvT 0.004 0.00002 1
43|27 /KR (CYAP) 0.003 0.00002 1 103[R2 BV 0.2 0.002 1
44|29 02(DCMU) 0.02 0.0001 1 104|RUTAAR) Y 0.3 0.001 1
45|20~ = )L(DBN) 0.03 0.0001 1 105|R>I5HILT 0.04 0.000004 1
46|24~ 0)LRR(DDVP) 0.008 0.0008 1 106[ NV IILTYV (RRADY) 0.01 0.0008 1
47197 vk 0.005 0.001 1 107[RoTLt—k 0.07 0.0006 1
48[ SRV (TFILFAALY) 0.004 0.00004 1 108|RRFF7HE—t 0.003 0.00002 1
WICFTIV 0.03 - - 109|RSFA(XSYY) 0.7 0.0005 1
50[CFA NI NA—PREEE 0.005 0.00005 1 110|437 AvyF(MCPP) 0.05 0.00005 1
51|SFAEIL 0.009 0.00008 1 11| AYSIL 0.03 0.0003 1
52[>\ORyTITFIL 0.006 0.00006 1 12| A3 L (F—73L) 0.01 0.00002 1
53[ T (CAT) 0.003 0.00003 1 113[A25F V)L 0.06 0.0005 1
54[SAFAR) Y 0.02 0.0002 1 14| AFHZF A2 (DMTP) 0.004 0.00004 1
55[C AT —h 0.05 0.0005 1 5[ AFNE A LAY 0.03 0.0003 1
56 [ ARYY 0.03 0.0003 1 16| AR /R PAEY 0.04 0.0003 1
57[CAERL—k 0.003 0.00003 1 HI|ARYT DY 0.03 0.0003 1
58[FAT/ 0.003 0.00005 1 118[ A7z Ftvk 0.02 0.00009 1
59[4 /L0 0.8 0.00005 1 119[ A7 0= )L 0.1 0.001 1
605 Ayt 0.006 0.00002 1 120[E)R—F 0.005 0.00005 1
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